STRIKER Sports Touring concept “STC” STEP KIT PARTS LIST

KAWASAKI Z650RS

SS-ST2164B
No. | Ak #= AR B | 1 (Fik)
1 |RTvTTL—kSTC L TS5vH 1 [SS-R9701466L ¥4.900
2 |RTvITTL—KSTC R T35V 1 [SS-R9701466R ¥8,800
3 | A7ty TL—kSTC L T5v5 1 [SS-R9710466L ¥19,000
4 A7t yrTL—kSTC R T5v4H 1 |SS-R9710466R ¥18,600
5 |lE=ILH—KFRT—R T35v%9 1 |SS-R9703466R ¥4 680
6 |lE—=JLA—KL STC T5v% 1 [SS-R9703002L ¥2.300
7 |E=)ILA—K R STC T35v¥ 1 [SS-R9703002R ¥2 300
8 |STCRTYI/IN— RSy ahys TS99 2 |SS-R9705TSC1 ¥4 500
9 |FzURAILSTC Type-1 T5vY 1 |SS-R9706T01C ¥10,000
10 [JL—F RS )LSTC Z650RS T5v¥ 1 [SS-R9706466B-B ¥17,500
11 | REILAL2F—hF5— SUS1615 Type2 1 |SS-R00131615-2 ¥1,000
12 (RG99 EY 1 |SS-R97094660 ¥1,500
13 [Ty anvykEY 1 |SS-R97284660 ¥1,650
14 |RAYFRT— PT-01-06 ¢ 16 1 |SS-R06093810 ¥580
15 |EQ/R—JL JAMLG 1 |SS-ROOJAMLOG ¥2 000
16 |>7kAYK 50mm #ARX-A X 1 |SS-R0024M050 ¥1,100
17 |2 2k8YKE 135mm 599 AR-AR 1 |SS-R00240135B ¥1,700
18 |ZILSHS— @12%x62%X5 TS5u4 1 |SS-RB1206050 ¥400
19 |[/REARILE M6X10 TS5us 3 |SS-RBB06010B ¥100
20 [AREARILE M6X15 T5u4 2 |SS-RBB06015B ¥100
21 [RBARILE M6x25 TS5v%H 1 |SS-RBB06025B ¥100
22 |[REUARILE M8Xx20 TS5vu4 2 |SS-RBB08020B ¥100
23 |[REUARILE M8X25 TS5vu4 1 |SS-RBB08020B ¥100
24 [YSHKR)LE M6x15 TS5v%H 2 |SS-RSB06015B ¥100
25 [SHRI)LE M8X30mm 1=40O 1 |SS-RSB08030U ¥100
26 |[SARILE M8 X 45mm 1=40O 1 |SS-RSB08045U ¥100
27 [HS5ARI)LE M8 X 20mm SUS 4 |SS-RSB08020S ¥200
28 [{E>vk M6 L 2=%0O 1 |SS-RTN06000L ¥100
29 [{EF+vk M6 2=40O 1 |SS-RTN06000U ¥100
30 [UFvk M6 21=%40 1 |SS-RUN060000 ¥100
31 [{EUF vk 358 M8 TS5v¥ 1 |SS-RU308000B ¥100
32 |[RE> ¢8 SUS 1 |SS-RRP08000S ¥100

KIRFN—VZTIXDRF, ERIERHEHDRELES TRETRBNITTHEEZSBVELET,

KARFIWEDT v TVIR—YD)RTIR—IIFRHEEREL THEYET D TIHERI AL,







MY {FHEERER

kawasaki Z650RS RR—YY—H A wTRATvTHvh

@ /—TILIN—YDREFERFIV—ERTZaAT7IEZSHREIET,

@ RAL T T —LERYN A ITLDBBENDBEERBYFTT
BElZEARY LTS, TNGY DR, EFABNBLELGYET,

@ /—ILIN—YERYSHLE FARREV TSy NEERILFDERYS LA
BHEEGY  BRNTREITGHGENHENE T DT, A TFIARFUE
FECRRETRSERZERHEL TS,

@ FXIIFMDIBER T DRTIEHRADTREEZLSEOEHLET,
WICEANDEEFRIYERYMTITICET D ERMZTACEINHEWNE T A,
ZEMDBERNMOEEABLMIRET DTFHI TEIZSLY,

@RS IVHAT (FTEAIRT IS—YIETRESHERTIL,

TL—FRFL)L, FzoORT)L

YRTIN=Y mE Al ZE

RFIEBEHENT—SUS ¢8 (FIoINRFILAIDH SS—R00060002 ¥550

RENAN— TS5V (FoIORFIADH) SS—-R00060C1B ¥2,000

R—ILRFYL 4 600022 (FIvIRFIILBAIDH) SS-RBBRC0002 ¥500

HISHRILIMA X 12mm TS99 (FIoORF JLAIDA SS-RSB04012B ¥100

RFEWIVRIN—(TLDH) SS—-R00980001 ¥300

(ool EN] [o>] [& ] BN [JV] |\ G}

s
RENLVIVEEYE TS99 (RAICHABITEA] 2 |SS-R00060005 ¥1,200
2
1
1
3
2
2

HSARILE M6 X 25mm 1=40 SS-RSB06025U ¥100

KT RRIFZABEREIEGYFTA, EANGBRARERLCELGYETS .

I
|
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I




